

ON SUBCLASSES OF UNIVALENT FUNCTIONS HAVING NEGATIVE COEFFICIENT USING RUSAL DIFFERENTIAL OPERATOR

T. G. THANGE¹ AND S. S. JADHAV

ABSTRACT. In this paper we introduced new classes $DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$ and $DA(\eta, \xi, \alpha, \beta, \partial, \lambda, c)$ of normalized, analytic, univalent functions on unit disc Δ . Using Rusal differential operator and neighbourhood property we derived certain inclusions with given classes. Some examples on neighbourhood of identity functions are discussed. Two subclasses of $DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$ are also identified.

1. INTRODUCTION

Let N be the class of normalized analytic, univalent functions on unit disc Δ with negative coefficient given by

$$(1.1) \quad f(z) = z - \sum_{k=2}^{\infty} a_k z^k \quad (a_k \geq 0).$$

Definition 1.1. In [2] Al-Oboudi has introduced differential operator as follows $D^n : N \rightarrow N$ defined by

$$D^0 f(z) = f(z).$$

$$(1.2) \quad D^1 f(z) = (1 - \lambda)f(z) + z f'(z) = D_\lambda f(z) \lambda \geq 0,$$

$$(1.3) \quad D^n f(z) = D_\lambda(D^{n-1} f(z)).$$

¹corresponding author

2010 Mathematics Subject Classification. 30C45.

Key words and phrases. Univalent function, Analytic function.

From (1.2) and (1.3) we have

$$D^n(f(z)) = z + \sum_{k=2}^{\infty} [1 + (k-1)\partial]^n a_k z^k \quad (z \in \Delta).$$

Definition 1.2. For $f \in N$, in [3] following Ruschweyh differential operator is defined $R^n : N \rightarrow N$

$$\begin{aligned} R^n(f(z)) &= \frac{z}{(1-z)^{n+1}} \cdot f(z) \quad n \in N \cup \{0\} \\ &= z + \sum_{k=2}^{\infty} {}_n^{n+k-1} C a_k z^k \quad (z \in \Delta), \end{aligned}$$

where $(\cdot)$ is Hadamard product defined in (2.1).

We note that $R^0 f(z) = f(z)$, $R' f(z) = z f'(z)$. [4] has used the following Rusal differential operator which is obtained by linear combination of Ruschweyh and Al-Oboudi differential operator.

Definition 1.3. Let $n \in N \cup \{0\}$, $\lambda \geq 0$, $A_\lambda^n : N \rightarrow N$ defined by

$$A_\lambda^n(f(z)) = (1-\lambda)D^n f(z) + \lambda R^n f(z).$$

After simplification we will get,

$$A_\lambda^n(f(z)) = z + \sum_{k=2}^{\infty} ([1 + (k-1)\partial]^n (1-\lambda) + \lambda {}_n^{n+k-1} C) a_k z^k.$$

If $n = 0$, $A_\lambda^0 f(z) = f(z)$.

[1] has used the class $AR(\eta, \xi, \alpha, \beta, \lambda)$. In the next section we discussed the class $DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$ which is generalization of $AR(\eta, \xi, \alpha, \beta, \lambda)$.

2. CLASSES $DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$ AND $DA(\eta, \xi, \alpha, \beta, \partial, \lambda, \mathcal{C})$.

In this section we introduced with $DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$ and $DA(\eta, \xi, \alpha, \beta, \partial, \lambda, \mathcal{C})$. We also defined the neighbourhood which will be useful in main results.

Definition 2.1. For $f_1(z) = z - \sum_{k=2}^{\infty} a_k$ and $f_2(z) = z - \sum_{k=2}^{\infty} a_k$ in $DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$ defined $*$ and $\cdot$ as bellow

$$h.f_1(z) = h. \left(z - \sum_{k=2}^{\infty} a_k z^k \right) = z - \sum_{k=2}^{\infty} h a_k z^k,$$

$$(2.1) \quad f_1(z) * f_2(z) = \left(z - \sum_{k=2}^{\infty} a_k z^k \right) * \left(z - \sum_{k=2}^{\infty} b_k z^k \right) = z - \sum_{k=2}^{\infty} (a_k b_k) z^k.$$

Definition 2.2. A function $f(z)$ in N is said to be in $DA(\eta, \xi, \alpha, \beta, \partial, \lambda, \mathcal{C})$ if and only if

$$\left| \frac{\frac{z(A_{\lambda}^n(f))' - 1}{A_{\lambda}^n(f)} - 1}{2\xi \left(\frac{z(A_{\lambda}^n(f))' - \alpha}{A_{\lambda}^n(f)} - \left(\frac{z(A_{\lambda}^n(f))' - 1}{A_{\lambda}^n(f)} \right) \right)} \right| < \beta,$$

where $0 \leq \alpha < \frac{1}{2\xi}$, $0 < \beta \leq 1$, $\frac{1}{2} \leq \xi \leq 1$, $n \in N \cup \{0\}$. Note that if $\lambda = 0$, then $DA(\eta, \xi, \alpha, \beta, \partial, 0)$ is the class $AR(\eta, \xi, \alpha, \beta, \lambda)$ discussed by [1].

The remark given bellow is proven as a theorem in [5].

Remark 2.1. If $f(z) = z - \sum_{k=2}^{\infty} a_k z^k$ is in N , then $f \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$ if and only if

$$\sum_{k=2}^{\infty} ([1 + (k-1)\partial]^n (1-\lambda) + \lambda {}_n^{n+k-1}C) (2\xi\beta(k-\alpha) + (k-1)(1-\beta)) a_k < 2\xi\beta(1-\alpha).$$

Definition 2.3. Let $\gamma \geq 0$ & $f(z) = z - \sum_{k=2}^{\infty} a_k z^k \in N$ then, (γ, P) -neighbourhood of the function $f(z)$ is denoted by $N_{\gamma,p}f$. It is defined as follows $N_{\gamma,p}f(z) = \{g \in N \mid \sum_{k=2}^{\infty} k|a_k - pb_k| \leq \gamma\}$. If $p = 1$, we get the neighbourhood defined by [1]. (k, γ, P) -neighbourhood of the function $f(z)$ is denoted by $N_{k,\gamma,p}f$ and it is defined as

$$N_{k,\gamma,p}f(z) = \left\{ g(z) \in N \mid g(z) = z - \sum_{k=2}^{\infty} \frac{b_k}{k} z^k \right\}$$

and

$$\sum_{k=2}^{\infty} k \left| a_k - p \frac{b_k}{k} \right| \leq \gamma.$$

We note that $N_{k,\gamma,p}f(z) \subseteq N_{\gamma,p}f(z)$.

We illustrate the above definition with following example

Example 1. Show that $g(z) = z - \frac{z^2}{2}$ then, $g(z) \in N_{\lambda,4}(e)$ $\lambda \geq 4$. Where e is the identity function. As $g(z) = z - \frac{z^2}{2} = z - \sum_{k=2}^{\infty} b_k z^k$. Therefore $b_2 = \frac{1}{2}$ and $b_k = 0, k \geq 3$. $e = z$. $g(z_1) = g(z_2) \Rightarrow (z_1 - \frac{z_1^2}{2}) = (z_2 - \frac{z_2^2}{2}), z_1, z_2 \in \Delta$.

Therefore, g is one to one on unit disc Δ and analytic.

$$N_{\gamma,4}(e) = \left\{ g(z) \in N : \sum_{k=2}^{\infty} k |pb_k| \leq \gamma \right\}$$

$$\sum_{k=2}^{\infty} k |pb_k| = 2.4 \cdot \frac{1}{2} = 4 \leq \gamma.$$

$$\Rightarrow g(z) \in N_{\gamma,4}(e).$$

Example 2. Show that $g(z) = z - \frac{z^2}{2}$, then, $g(z) \in N_{k,1,1}(e)$, where e is the identity function. As we discussed in Example 1, $g(z)$ is one to one in unit disc and

$$N_{k,1,1}(e) = \left\{ g(z) \in N \mid g(z) = z - \sum_{k=2}^{\infty} \frac{b_k}{k} z^k \quad \text{and} \quad \sum_{k=2}^{\infty} k \left| \frac{b_k}{k} \right| \leq 1 \right\}$$

$$= \left\{ g(z) \in N \mid g(z) = z - \sum_{k=2}^{\infty} \frac{b_k}{k} z^k \quad \text{and} \quad \sum_{k=2}^{\infty} |b_k| \leq 1 \right\}$$

$$g(z) = z - \frac{z^2}{2} = z - b_2 z^2.$$

$$\sum_{k=2}^{\infty} |b_k| = \frac{1}{2} \leq 1.$$

Therefore, $g(z) \in N_{k,1,1}(e)$.

Definition 2.4. The function $f(z)$ defined by (1.1) is said to belong to class $DA(\eta, \xi, \alpha, \beta, \partial, \lambda, C)$ iff there exist function $g \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$ such that

$$\left| \frac{f(z) - p \cdot g(z)}{g(z)} \right| \leq 1 - C, \quad \text{where } z \in \Delta, 0 \leq c \leq 1.$$

3. MAIN RESULTS

In the given section, first theorem gives inclusion property related with neighbourhood. Other results provide examples related to the class $DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$.

Theorem 3.1. Let $DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$ and $C = 1 - \frac{\gamma}{2} \cdot d$, where

$$d = \frac{([1 + \partial]^n(1 - \lambda) + \lambda \frac{n+1}{n} C)(2\xi\beta(2 - \alpha) + (1 - \beta))}{([1 + \partial]^n(1 - \lambda) + \lambda \frac{n+1}{n} C)(2\xi\beta(2 - \alpha) + (1 - \beta) - 2\xi\beta(1 - \alpha))}.$$

Then $N_{\gamma,p}(DA(\eta, \xi, \alpha, \beta, \partial, \lambda)) \subseteq DA(\eta, \xi, \alpha, \beta, \partial, \lambda, C)$.

Proof. Suppose $g(z) = z - \sum_{k=2}^{\infty} a_k z^k \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$. Let

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k \in N_{\gamma,p} DA(\eta, \xi, \alpha, \beta, \partial, \lambda).$$

Then

$$\sum_{k=2}^{\infty} k|a_k - pb_k| \leq \gamma \Rightarrow \sum_{k=2}^{\infty} |a_k - pb_k| \leq \frac{\gamma}{2}.$$

As $g(z) \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$,

$$(3.1) \quad \sum_{k=2}^{\infty} b_k \leq \frac{2\xi\beta(1-\alpha)}{([1+\partial]^n(1-\lambda) + \lambda \frac{n+1}{n}C)(2\xi\beta(2-\alpha) + (1-\beta))}.$$

$$\begin{aligned} |f(z) - p.g(z)| &= \left| z - \sum_{k=2}^{\infty} a_k z^k - p.(z - \sum_{k=2}^{\infty} b_k z^k) \right| \\ &= \left| \sum_{k=2}^{\infty} (a_k - pb_k) z^k \right| \\ \left| \frac{f(z) - p.g(z)}{g(z)} \right| &= \left| \frac{\sum_{k=2}^{\infty} (a_k - pb_k) z^k}{z - \sum_{k=2}^{\infty} a_k z^k} \right| \\ &= \left| \frac{\sum_{k=2}^{\infty} (a_k - pb_k) z^{k-1}}{1 - \sum_{k=2}^{\infty} b_k z^{k-1}} \right| \\ &= \left| \frac{\sum_{k=2}^{\infty} (a_k - pb_k)}{1 - \sum_{k=2}^{\infty} b_k} \right|. \end{aligned}$$

Hence, from (3.1)

$$\begin{aligned} \sum_{k=2}^{\infty} b_k &\geq 1 - \frac{2\xi\beta(1-\alpha)}{([1+\partial]^n(1-\lambda) + \lambda \frac{n+1}{n}C)(2\xi\beta(2-\alpha) + (1-\beta))} \\ &\geq \frac{([1+\partial]^n(1-\lambda) + \lambda \frac{n+1}{n}C)(2\xi\beta(2-\alpha) + (1-\beta)) - 2\xi\beta(1-\alpha)}{([1+\partial]^n(1-\lambda) + \lambda \frac{n+1}{n}C)(2\xi\beta(2-\alpha) + (1-\beta))}. \\ \left| \frac{f(z) - p.g(z)}{g(z)} \right| &\leq \left| \frac{\sum_{k=2}^{\infty} (a_k - pb_k)}{1 - \sum_{k=2}^{\infty} b_k} \right| \\ &\leq \frac{\gamma}{2} \frac{([1+\partial]^n(1-\lambda) + \lambda \frac{n+1}{n}C)(2\xi\beta(2-\alpha) + (1-\beta))}{([1+\partial]^n(1-\lambda) + \lambda \frac{n+1}{n}C)(2\xi\beta(2-\alpha) + (1-\beta)) - 2\xi\beta(1-\alpha)} \\ &\leq \frac{\gamma}{2} d \\ &= 1 - \mathcal{C}. \end{aligned}$$

Hence, $f \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda, \mathcal{C})$. Therefore,

$$N_{\gamma,p}(DA(\eta, \xi, \alpha, \beta, \partial, \lambda)) \subseteq DA(\eta, \xi, \alpha, \beta, \partial, \lambda, \mathcal{C}).$$

□

Theorem 3.2. $DA(\eta, \xi, \alpha, \beta, \partial, \lambda) \subseteq N_{k,\gamma,1}(e)$. Where

$$\gamma = \frac{2\xi\beta(1-\alpha)}{([1+\partial]^n(1-\lambda) + \lambda \frac{n+1}{n}C)(2\xi\beta(2-\alpha) + (1-\beta))},$$

and e is the identity function.

Proof. Assume $f(z) = z - \sum_{k=2}^{\infty} a_k z^k \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$. Then,

$$\begin{aligned} & \sum_{k=2}^{\infty} ([1 + (k-1)\partial]^n(1-\lambda) + \lambda \frac{n+k-1}{n}C)(2\xi\beta(k-\alpha) + (k-1)(1-\beta))a_k \\ & < 2\xi\beta(1-\alpha)([1+\partial]^n(1-\lambda) + \lambda \frac{n+1}{n}C)(2\xi\beta(2-\alpha) + (1-\beta)) \sum_{k=2}^{\infty} a_k \\ & \leq \sum_{k=2}^{\infty} ([1 + (k-1)\partial]^n(1-\lambda) + \lambda \frac{n+k-1}{n}C)(2\xi\beta(k-\alpha) + (k-1)(1-\beta))a_k \\ & \leq 2\xi\beta(1-\alpha). \end{aligned}$$

and

$$(3.2) \quad \sum_{k=2}^{\infty} a_k \leq \frac{2\xi\beta(1-\alpha)}{([1+\partial]^n(1-\lambda) + \lambda \frac{n+1}{n}C)(2\xi\beta(2-\alpha) + (1-\beta))}$$

$$\begin{aligned} N_{k,\gamma,1}f(z) &= \left\{ g(z) \in N \mid g(z) = z - \sum_{k=2}^{\infty} \frac{b_k}{k} z^k \quad \text{and} \quad \sum_{k=2}^{\infty} k \left| a_k - \frac{b_k}{k} \right| \leq \gamma \right\} \\ N_{k,\gamma,1}(e) &= \left\{ g(z) \in N \mid g(z) = z - \sum_{k=2}^{\infty} \frac{b_k}{k} z^k \quad \text{and} \quad \sum_{k=2}^{\infty} k \left| \frac{b_k}{k} \right| \leq \gamma \right\} \end{aligned}$$

$$(3.3) \quad N_{k,\gamma,1}(e) = \left\{ g(z) \in N \mid g(z) = z - \sum_{k=2}^{\infty} \frac{b_k}{k} z^k \quad \text{and} \quad \sum_{k=2}^{\infty} |b_k| \leq \gamma \right\}.$$

Hence, from (3.2) and (3.3)

$$f(z) \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda).$$

Therefore, $DA(\eta, \xi, \alpha, \beta, \partial, \lambda) \subseteq N_{k,\gamma,1}(e)$.

□

Theorem 3.3. Let $f \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$. For every $t \geq 0$, let the function $H_t(z)$ be defined by

$$H_t(z) = (1-t)f(z) + t \int_0^z \frac{f(s)}{s} ds.$$

Then, for

$$M = \{H_t | t \geq 0, t \in \mathbb{R}^+\}.$$

$$M \subseteq DA(\eta, \xi, \alpha, \beta, \partial, \lambda).$$

Proof. Let $f(z) = z - \sum_{k=2}^{\infty} a_k z^k \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$. Therefore, from remark 2.1 we have

$$\begin{aligned} & \sum_{k=2}^{\infty} ([1 + (k-1)\partial]^n (1-\lambda) + \lambda {}_n^{n+k-1}C) (2\xi\beta(k-\alpha) + (k-1)(1-\beta)) a_k \\ & < 2\xi\beta(1-\alpha) \\ H_t(z) &= (1-t)f(z) + t \int_0^z (f(s))/s ds \\ &= (1-t)(z - \sum_{k=2}^{\infty} a_k z^k) + t \int_0^z \frac{s - \sum_{k=2}^{\infty} a_k s^k}{s} ds \\ &= z - tz - \sum_{k=2}^{\infty} a_k z^k + \sum_{k=2}^{\infty} t a_k z^k + tz - t \sum_{k=2}^{\infty} a_k \frac{z^k}{k} \\ &= z - \sum_{k=2}^{\infty} (1-t + \frac{t}{k}) a_k z^k = z - \sum_{k=2}^{\infty} b_k z^k. \end{aligned}$$

But $1 - t + \frac{t}{k} < 1$ for $k \geq 2$. Therefore,

$$\begin{aligned} & \sum_{k=2}^{\infty} \frac{([1 + (k-1)\partial]^n (1-\lambda) + \lambda {}_n^{n+k-1}C)}{2\xi\beta(1-\alpha)} \\ & \cdot (2\xi\beta(k-\alpha) + (k-1)(1-\beta)(1-t + \frac{t}{k}) a_k) \\ & < \sum_{k=2}^{\infty} \frac{([1 + (k-1)\partial]^n (1-\lambda) + \lambda {}_n^{n+k-1}C)}{2\xi\beta(1-\alpha)} \\ & \cdot (2\xi\beta(k-\alpha) + (k-1)(1-\beta) a_k) < 1. \end{aligned}$$

Hence,

$$\sum_{k=2}^{\infty} \frac{([1 + (k-1)\partial]^n(1-\lambda) + \lambda {}_n^{n+k-1}C)}{2\xi\beta(1-\alpha)} \cdot (2\xi\beta(k-\alpha) + (k-1)(1-\beta)(1-t + \frac{t}{k})a_k) < 1.$$

Therefore, by Remark 2.1,

$$H_t(z) \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda),$$

$$M \subseteq DA(\eta, \xi, \alpha, \beta, \partial, \lambda).$$

□

Theorem 3.4. Let $f \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$. Defined the function $S_t(z)$ as bellow,

$$S_t(z) = (1-t)z + t \int_0^z \frac{f(s)}{s} ds, \quad 0 \leq t \leq 2, \quad z \in \Delta,$$

$$L = \{S_t | 0 \leq t \leq 2, t \in \mathbb{R}^+\},$$

Then $L \subseteq DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$.

Proof. Let $f(z) = z - \sum_{k=2}^{\infty} a_k z^k \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$. Therefore, by Remark 2.1

$$\sum_{k=2}^{\infty} ([1 + (k-1)\partial]^n(1-\lambda) + \lambda {}_n^{n+k-1}C)(2\xi\beta(k-\alpha) + (k-1)(1-\beta))a_k < 2\xi\beta(1-\alpha)$$

and

$$S_t(z) = (1-t)z + t \int_0^z \frac{f(s)}{s} ds = z - tz + t \int_0^z \frac{s - \sum_{k=2}^{\infty} a_k s^k}{s} ds$$

$$= z - \sum_{k=2}^{\infty} \frac{t}{k} z^k a_k = z - \sum_{k=2}^{\infty} b_k z^k.$$

Now we will show that $S_t(z) \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$. Since $0 \leq t \leq 2, t \leq 1$,

$$\sum_{k=2}^{\infty} \frac{([1 + (k-1)\partial]^n(1-\lambda) + \lambda {}_n^{n+k-1}C)(2\xi\beta(k-\alpha) + (k-1)(1-\beta)a_k)}{2\xi\beta(1-\alpha)} \frac{t}{k}$$

$$\leq \sum_{k=2}^{\infty} \frac{([1 + (k-1)\partial]^n(1-\lambda) + \lambda {}_n^{n+k-1}C)(2\xi\beta(k-\alpha) + (k-1)(1-\beta)a_k)}{2\xi\beta(1-\alpha)} \frac{t}{2}$$

$$\leq 1.$$

Hence, $S_t(z) \in DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$. Therefore, $L \subseteq DA(\eta, \xi, \alpha, \beta, \partial, \lambda)$.

□

REFERENCES

- [1] A. R. JUMA: *Some problem connected with geometry of univalent and multivalent functions*, Ph.D. Thesis University of Pune, Pune, 2008.
- [2] F. M. AL-BOUDI: *On univalent functions defined by a generalized salagean operator*, International. J. Math. and Mathematical Sciences, **27** (2004), 1429–1436.
- [3] S. RUSCHEWEYH: *New criteria for univalent functions*, Proc. Amer math.soc., **49** (1975), 109–115.
- [4] T. G. THANGE, S. S. JADHAV: *On certain subclass of normalized analytic function associated with Rusl differential operator*, Malaya Journ. Of Matematic, **8**(1) (2020), 235–242.
- [5] T. G. THANGE, S. S. JADHAV: *On Univalent Functions with Negative coefficient By Using Rusl Differential Operator*, Communicated in international conference on EMACI, Jabalpur, 2020.

DEPARTMENT OF MATHEMATICS
YOGESHWARI MAHAVIDYALAYA AMBAJOGAI
BEED-431517, MAHARASHTRA, INDIA
E-mail address: tgthange@gmail.com

SUNDARRAO MORE ARTS, COMMERCE, AND SCIENCE (SR.) COLLEGE
POLADPUR, RAIGAD-402303, INDIA